—+ cdot m "1} [pb/GeV?]

1nu
a

Ratio to ATLAS

[EEY

0.5

13000 GeV pp

pﬁb"” (ATLAS ttbar)

m ATLAS
—a4a— Pythia 8.308 default
---¥-- Pythia 8.308 tune-AU2
--<-- Pythia 8.308 tune-AU2lox

Rivet 3.1.10, = 2.1M events

— -8~ Pythia 8.308 tune-AUZ2loxx —

— —— Pythia 8.308 tune-AU2m -

B S
o
<
o™

i %)
o
o
—i

= —%

~ 1%

- I -

B | O

B e
(]

i ok
wn

B —H0
o
(@)

_| | ] | | | | | | |_ E

:| T 1 T T | T ¢ ! |:

3 Ep

- & | .

e ST =3
%‘ _________________ ]
B —0.5
| . . . | | I
0 1000




	Contents
	Page 1


